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PROBLEM 36l (Contd. )

Smea dbtis s s werk Gifoc'add with The Comifat volviea
th‘mv]h-thn r_...gmt, Alag foted weork o iw el g dea A FE~
und.wau.t e “m-!ha*’r s siure ecpaniinu frem | o oo

W= j pdV = plVa-Vi] = FLVI-'UT'] = MP{U"_-UG}

]

That ta , with Ay = 70

“_I.
S ey

= 41.23 J

R —
=1

A snerny baltne Mode

AU+ BT +afl: @-W

= @=£|.U+Do...r‘

larbopr €
u‘lall,ﬁ +‘-I’.'{'I.I3‘-b|{_.)
: b9t 4 o2 (79T - 4Led4) = F50.3 £ Ies

To find ug, interpolats bn  Todle A=Y ot Sbar Uimg Vg ! Wy = Y2L3T3
kdlEy.  Thaw

T

_.r =<+ 41137

&= (3.‘?#3!:0"‘" Fa:][: 3263.51 - QHEI}_E% —

: b FY4T T -



FROBLEM 3,7
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AssumpTions: (1) The liquid is the closed system. (2) The liquid be haves
as an fucompressible substunce with constam® Cpecific heat ¢, (3) The eutnﬁ
drawnsfer from +he poddle wheel to the sythem orowrs ot a constant vode

) Theve are o chamges in \etiuetic or potential ewergy,

ANALYSLS 1 The energy f‘a.h. bolamee s

e i

ikl d‘.'U,.Ird.q_. = Yo &de.t qLuJ_ G = hA(Tm-T

AT . clidfe ri.r:l“ jal
me g ThACT-T) =W equation
To solve, let & =To-T ; dT = — 48 . Thus
e A W
h "'L%T:)g —wme - O
The solution of ¥ dikberewtial equacion is of the form
6(t) = a, exp [-(f;—"t\t] + Eﬁ
ot $%0, T=To 2> 6=0. Thus € = -W/ha, so
oct) = & {1~ exp[- (24341}
o W f
oJel T = To- - e (B0 T¢)

I. The solukion con be verikied "‘j divect sulsghitution inte the
dt‘lﬁmnhal :qrua,h-:w zZ. Th& sollltiow satis fies the initial conddhon.
-+ Tio)



FROBLEM 2. B4
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PrROGLEM 3. 9L
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rigid, wall- twsuwlated covtaiuer, The garkition woves awd allows tondue-
Hidn Hrom one aes 4o Hhe obker watil equilie rum is achieved,

Ewn:  Determine the Flual temperatureamd presiure,
SCHEMATIC § GIVEN) DATA : &%

AsSUMPTIOND: (1) The contents of the
contoiuer Form a closed syshew,

(2) The air awnd €O, behaves as

ideal quies with constont specific
heats."(3) The system (s isclated

so Q=0 auwd W=0. M) There is no
evergy sfored in the partihion.

(5) Kinetic owd @nhui-mi energy efMects
oare he.aliai‘gle..
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PROBLEM 3.6

Similar Iy for the carbon dioxide
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FROBLEM 3,109
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